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A. Policies that correlate event types that are within a given time or geographic distanceof

each other

B. Policies that will determine conflicting CBRNE events within a given time period

C. Policies to determine flood potential around water leak detection of a given geographic

area

D. All of the above

Answer: A 

QUESTION: 27 

The Intelligent Operations Center Standard Operating Procedure component has built-in 

objects for which of the following? 

A. Service Requests and Incidents

B. Work Orders

C. Assets and People

D. All of the above

Answer: D 

QUESTION: 28 

Adding a report to theIntelligent Operations Center portal can be done by putting the report 

URL into an iFrame portlet. Where should you obtain that report URL? 

A. From a URL registration authority

B. From the browser entry field after report testing

C. From the IOC Report Services administration page for the report

D. There is no URL for a newly created report, you must copy XML definitions into the

portlet

Answer: C 

QUESTION: 29
 
The Adaptive Blueprint for Smarter Cities provides several client values, one of which is:
 

A. A pricing model for business partners and solutions integrators.

B. Rules of engagement for different organization sales teams.

C. Specific recommendations on City Policy changes.

D. An integrated model that supports a diverse eco-system of vendors toensure policy
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adoption city wide. 

Answer: D 

QUESTION: 30
 
A "node" in a Standard Operating Procedure is:
 

A. added at specific business process junctures to denote the entry of a record into the

business process

B. the start or stop location at the ends of a workflow series

C. an associated processing point for a particular action in a workflow

D. a point in the workflow process to handle an external connection

Answer: A 

QUESTION: 31 

Which of the following is NOT one of the key points in the useof the Intelligent Operations 

Center? 

A. Focus on the time-to-value milestones and issues, and plan for the right resources and

skills.

B. The Intelligent Operations Center strength is to provide cross-domain integration,

analytics, and visualization.

C. Data Integration is an important part of the solution, do you have the data to support the

use case?

D. Focus on the underlying IBM software products contained within the Intelligent Operations

Center and their individual features.

Answer: D 
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